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Clpialy )l and — o glall 4l Introduction of Logic

Answer the following equations: (every question 20 Marks)

[1]
i) Give the contra positive of the following statement:
[t is raining only if the sky is cloudy.
ii) Show that the statement (p A q)A~(pVv q) is a contradiction without using the
truth table.

2]
1) Write the negation of the following statement:
[t is not true that it is raining or it is not snowing.
i) Prove that: if A— B and B — C are tautologies, then A — C is also a
tautology.

[3]
1) Find a disjunctive normal form for the given Boolean function:
P(x,y,2)=(xvy)A(xVvyvz)

ii) Determine whether or not the following argument is valid:
~pVvq
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4] |
i) Design a logic circuit that inputs the values of three variables x,y and z and output
a 1 iff x=y.
(using Karnaugh Maps to simplify)

i) What's the meaning of inclusive or and exclusive or.
Write the truth table of each or.
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